SABADWGYls1.dwg, 411812006 61501 AM, BDS

13/16"x 3" SLOTTED HOLES

TS 6" x 3" x Y& x 3)3 LONG

%" AS REQUIRED

r’A -—TQ-J/BHMAX.
) syt [ TN S

R—23A 2-26--93

BN
14" x 4" x 6" PLATE

ey 1T > A .
L0 | e
1 T e
7/8" HOLES— } - 1 / STEEL TUBING
POS ﬁ[@
NS -
I T || ) .
j© i 2~ 3/4" x 6” ROUND HEAD BOLTS — © o
i il (WiTH SLOT OR APPROVED RECESS IN _
b= HEAD) WITH LOCKNUT & FLAT WASHER. o .
7/8" HOLES IN TUBING MAY BE - o
DRILLED IN THE FIELD. Wox25 ] [
2 ” el
o 1 |
AR 13/16" 5 1/2" SLOTTED 2% ;
LONG
HOLE IN POST P [ e 3t i e
L6 x 4 x 3/4 - | (SEE DETAIL)
/ 3/16" HOLES _ »Y| |
v ik 2 IN ANGLES | 5 _
B B 3 *
" Q 2-1"¢ x 3 3/4" H.S. BOLTS "% |
1 1/8" HOLES =
N ANGLES WITH FLAT WASHER |
. @ [t} — 3/4" x 3 1/4" H.S. BOLTS s
el WITH HEX NUT & FLAT WASHERS i
3

1347 x 5Y SLOT ~—r—

Ar—‘

| A&
5 -
B N N
3 Lol o

T
N I ——
&
el —

SPACER DETAIL

GUARD RAIL CONNECTION AS REQUIRED.

%5 x 2" SLOTS IN V3 A

— 1 1/8"6 HOLES FOR 178 x 4” ROUND HEAD BOLTS.
PROVIDE 2 FLAT WASHERS & LOCKNUTS FOR

NS
I_., TT H
O o
T [
"ok RéCEss | WTH stoT S I
VIEW A-A ©
ROUND HEAD BOLT -
ST ‘
11" Nf"._\*“ )H__\%X rrrrr 3/4°¢ DRAIN HOLE
_E 1%
2% " 3% N 3%” Z‘% 7 HOLES 3 < - 1"
AN R AL A NN
! <
P | S .
| O [N "’T
T T S *
|-G post g % TRAFFIC SIDE OF RAIL
\

SE!;ZHZN A—A TACK V?ELD T0 PO?T & (SEE DETAIL) v
PLATE (SEE DETAIL, le Q_g
SECTION AT RAIL POST
** Whenever the lower insert assemblies interfere with strand locations,
the #3 bars shall be cut and adjusted in order to allow raising or
lowering of the lower inserts. Maximum adjustment not to exceed 1/2".
17" * 17 H.S. NUT AASHTO M—164
7 T 14’8 HOLES f— . € post S/f x4 WELDED TO |2
3% . Sh CH. 2 2% 3% CAST 1" VOIDS BEHIND
|I ?l ’-‘ 17 67 13" [ FEACH NUT
! L v % .
N N 1/, -
” AN ” o 1/5 ¢ HOLE 3
L6 x 4 x 3/4 x 6 Ig- N GRIND %5 CHAMFER L ! "
e R ZRA U A0 N _ f
L N RSl
pa Wéx25 f =\ f ) 1_] E 17 3/4"@ x 6" GRANULAR OR SOLID FLUX
e mﬁ ‘;NT N Tl e FILLED HEADED STUDS CONFORMING TO
- 16"8 HOLES IN ANGLES ARTICLE 505.08 OF THE STD. SPECS.
f— 17;;75” x 5 1/2" SLOTTED N\ 3 AUTOMATICALLY END WELDED.
” ” 3, - 4 REQUIRED PER PLATE
HOLES N POST N Y% 1% e **Bfg * 3/4" PIPE OR HEX NUTS
ION B-B ¢ Y \ [T CONFORMING TO ASTM A-563,
RN | ‘95/ GRADE A ~ 3" LONG WELDED TO
B 6 __F , #3 BAR AND TAP PIPE FOR
! =1 1 5/8"¢ CAP SCREW.
Ll .
6" %'x 1Y% 6" BAR4] 7
vicE "

* THREADED AREAS SHALL BE PLUGGED OR
BLOCKED OFF DURING CASTING OF BEAM.

(10’=9" Maximum Post Spacing)

5/8" x 1 3/4" CAP SCREW

OF RAIL DETAILS

P 3/8" x 2 1/2” x 20"
TOP & BOTTOM

P 3/8" x 10 7/8" x 20"

EACH SIDE LOCKNUT

WITH FLAT WASHER

RouTE wo. secmon counTy g sHEeT no. B

% | WOODFORD 17 16 | 6 _ sueers

e

* Section 02-08143--00-BR
CONTRACT NO. 89390

12” x 4” x W’ x 475 LONG REC. TUBE
NOTCH 745 x 6)5 TO FIT FLANGE

NOTES

Hollow structural steel tubing shall conform to the requirements of
ASTM designation A—500 Grade B Structural Steel Tubing and shall
meet the longitudinal CVN requirements of 15 ft—Ibs at 0" F.

All other steel shapes and plates shall conform to the requirements of
AASHTO M—270 Grade 36 except posts and angles shail conform to
AASHTO M—270, Grade 50.

Boits, cap screws, and nuts shall conform to the requirement of
ASTM designation A~307 except for high strength bolts, nuts and washers
noted which shall conform to AASHTO M-164.

Ail bolts, nuts, cap screws, washers and lock washers shail be
galvanized in accordance with AASHTO M—232.

All posts, railing, rail splices, anchor devices and angles shail be
galvanized after shop fobrication in accordance with AASHTO M—111 and
ASTM A—385. Galvanized rail shall not be painted.

Railing shall be in accordance with Section 509 of the Standard
Specifications, except as noted, and will be paid for at the contract
unit price per lineal foot for STEEL RAILING, TYPE S—1.

All field drilled holes shall be coated with an approved zinc rich
paint before erection.

The lower portion of the post flange in contact with concrete shali
receive two coats of asphalt paint conforming to Section 1060.07 Type I
or place 1/8 fabric bearing pad between the post and concrete.

The 3/4"0 high strength bolts used to connect the 6 x 4 x 3/4 angles
to the post shall be tightened in_accordance with Article 507.04(f)(3)
of the Standard Specifications. The 1" high strength bolts connectmg
the angles to the concrete shall be tightened to a snug fit and given
an additional 1/8 turn. The 5/8"¢ cap screws in bottom of posts shall be
tightened to a snug fit only.

5/8"¢x 1 3/4” CAP SCREW
WITH FLAT WASHER & 3/4"¢

WOLES IN TUBING x  PIPE SPACER, 1/2" LONG.
P N BILL OF MATERIAL
AT _EXPANSION JT [ item | Unit T Quantity]

|Steel Railing, Type S1| Foor | 202 |

Y4 "AT RAIL SPLICE
1/§" AT EXP. JT. AT 50°F.

]

o» " LOCKNUT

1%&® HOLES

3/4"8 HOLES IN TUBIN PLAN—BOTT. S

SECTIONS AT RAIL SPLICE

TYPICAL

IN 34" PLATE
AILING TYPE S1
SECTION 02-08143—-00—BR

METAMORA ROAD DISTRICT
WOODFORD COUNTY




